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Part B — Short Answer Questions (30 marks)

1. Sizes of cells (pm) in a sample are as follows;
12,22, 40, 15,22, 22, 33, 16, 30, 21, 35, 24, 28, 10, 32, 728, 44, 42,33

1.1 Construet stem and leaf plot for above sampie.

........................................................................................

........................................................................................

........................................................................................

- 1.2 Compute first quartile {Q1) and third quartiie {Q3).

(5 marks)

.......................

.......................

(6 marks)

(Total 15 marks)




2. The systolic blood pressure measurements of 120 normal individuals are normally

distribute with mean of 100Hg/mm and variance of 100(Hg/mm)?,

2.1 Listtwo (02) characteristics of normal distribution. (2 marks)

2.2 Find the percentage of individuals whose systolic bicod pressure is between 90 Hg/mm

and 110 Hg/mm. {3 marks)

...............................................................................................................

2.3 The individuals who have systolic blood pressure greater than or equal to [25 Hg/mm is
categorized as “at risk” for getting hypertension. Compute the percentage of individuals

who are at risk of getting hypertension. (7 marks)

...............................................................................................................
...............................................................................................................
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2.4 The mean, median and mode of systolic blood pressure of individuals in cardiac unit are

180Hg/mm, 140Hg/mm and 120Hg/mm respectively.
Interpret whether the distribution of systolic blood pressure of individuals in cardiac unit

is symmetric, positively or negatively skewed distribution. (3 marks)

.............................................................................................................
...............................................................................................................

...................................................................................................................................................

( Total 15 marks)

e |




INDEX NO: ........... e

Part C — Essay Questions (50 marks)

. Normal serum albumin level of individuals is distributed with mean () = 4.5g/dl.. The serum

albumin level of individuals in-a given sample of a medical ward distributed as follows,

Serum ?;ﬁgm level Frequency of individuals
35 2
4 2
45 4
5 4
5.2 2
5.5 2

f.1 Compute mean and standard error of mean of serum albumin level of given sample.

(Standard deviation of sampie = 0.4} (10 marks)

1.2 Find out whether the serum albumin level of individuals in a medical ward is nhormal or not

and interpret the result. (Consider o = 0.05) {15 marks)

( Total 25 marks)




2. In a study conducted to assess the relationship between cell size and ceil mobility. The
researcher identified that there were two levels of cell mobility as level 1 and level 2 and
three types of cell sizes as X, Y and Z. The 200 cells were in study population and the
aumber of X and Y cells in study poputation were 100 and 50 respectively. The Researcher

wanted to assess whether there is an association between celi size and cell mobility.

{Consider o = 0.05)

2.1 Name the suitable sampling method and compute the number of X, Y and Z cells in the

sample by considering 80 cells as the size of the sample. (12 marks)

2.2 Formulate the null ahd alternative hypothesis to assess the research objective given above..

Name a statistical test that can be used to test the above hypothesis. (6 ma:rks')’- '

2.3 Determine the degree of freedom and critical value related to above statistical test. (7 marks)y

( Total 25 marks
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STANDARD NORMAL TABLE (2)

Entries in the table give the area under the curve
between the mean and z standard deviations above
the mean. For example, for z = 1.25 the area under
- the curve between the mean (0) and z is 0.3944.
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Percentage Points of the Chi-Square Distribution

Degrees of Prabability of a larger value of x”

Freedom " ogg 095 080 075 050 025 010 005 001

1 0000 0004 0016 0402 0455 132 271 384 663
2 0000 0403 02t 0575 1386 27 46l 589 9
3 0115 0352 058 1212 2366 411 625 731 1L
4 0297 0711 1064 1923 3357 539 778 949 1328
5 0854 1145 1610 2675 4350 663 924 1107 1509
6 0870 1635 2204 3455 5348 78 1064 1259 1631
7 1239 2467 2833 4255 6346 904 1202 107 1848
8 1647 2733 3490 5070 734 1022 133 1551 2009
9 2088 3325 4168 5809 8343 1139 1468 1692 2167
10 2558 3940 6737 9342 1255 1599 1831 2321
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16 812 7960 9312 11912 15338 1937 2354 2630 3200
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2 9542 12338 14041 17240 21337 2604 3081 32 4009
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14953 18493 20599 24478 29336 3430 4026 4377 5089
22164 26509 20051 33860 39335 ASH2 L8 5576 636D
27707 34764 37689 42942 49335 5633 6317 G750 761
37485 43188 46459 52294 59335 EGOR 440 M0 583
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